Vendor's Name					Prime Construction Group, Inc.		JCB Construction, Inc.	
Vendor	's City & State:				Orlando, FL		Orlando, FL	
Item	Description	Item #	Qty	Unit	Unit Price	Total	Unit Price	Total
1	MOBILIZATION	101-1	1	LS	\$264,600.00	\$264,600.00	\$406,077.00	\$406,077.00
2	BOND AND INSURANCE	101-2	1	LS	\$25,000.00	\$25,000.00	\$66,900.00	\$66,900.00
3	MAINTENANCE OF TRAFFIC	102-1	1	LS	\$250,000.00	\$250,000.00	\$425,662.12	\$425,662.12
4	PREVENTION, CONTROL AND ABATEMENT OF				, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	+,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	* -,
	EROSION AND WATER POLLUTION	104	1	LS	\$51,398.60	\$51,398.60	\$12,165.60	\$12,165.60
5	CLEARING AND GRUBBING	110-1-1	1	LS	\$120,000.00	\$120,000.00	\$827,071.46	\$827,071.46
6	TYPE B STABILIZATION	160-4	6313	SY	\$14.00	\$88,382.00	\$10.43	\$65,844.59
7	OPTIONAL BASE,BASE GROUP 09	285-709	6131	SY	\$21.50	\$131,816.50	\$36.01	\$220,777.31
8	SUPERPAVE ASPHALTIC CONC, TRAFFIC C	334-1-13	354	TN	\$150.00	\$53,100.00	\$309.60	\$109,598.40
9	MILLING EXIST ASPH PAVT,1 1/2" AVG DEPTH	327-70-6	6637	SY	\$13.00	\$86,281.00	\$9.84	\$65,308.08
10	ASPH CONC FC,TRAF C,FC-12.5,PG 76-22,ARB	337-7-74	548	TN	\$287.00	\$157,276.00	\$305.02	\$167,150.96
11	INLETS, CURB, TYPE J-4, >10'	425-1-442	3	EA	\$24,000.00	\$72,000.00	\$23,051.32	\$69,153.96
12	INLETS, CURB, TYPE J-6, >10'	425-1-462	1	EA	\$15,000.00	\$15,000.00	\$10,636.62	\$10,636.62
13	INLETS, DT BOT, TYPE H, >10'	425-1-582	1	EA	\$11,000.00	\$11,000.00	\$5,370.28	\$5,370.28
14	MANHOLE, J-8, >10'	425-2-92	15	EA	\$14,500.00	\$217,500.00	\$10,686.13	\$160,291.95
15	MITERED END SECT, RCP, ROUND, 84" CD	430-982-147	1	EA	\$16,250.00	\$16,250.00	\$23,042.70	\$23,042.70
16	PIPE CULV, PVC, ROUND, 3"S/CD	430-175-103	6	LF	\$175.00	\$1,050.00	\$20.00	\$120.00
17	PIPE CULV, PVC, ROUND, 12"S/CD	430-175-112	3	LF	\$200.00	\$600.00	\$180.78	\$542.34
18	PIPE CULV, RCP, ROUND, 18"S/CD	430-175-118	25	LF	\$240.00	\$6,000.00	\$96.31	\$2,407.75
19	PIPE CULV, RCP, ROUND, 24"S/CD	430-175-124	3	LF	\$250.00	\$750.00	\$279.82	\$839.46
20	PIPE CULV, RCP, ROUND, 54"S/CD	430-175-154	60	LF	\$475.00	\$28,500.00	\$269.30	\$16,158.00
21	PIPE CULV, RCP, ROUND, 60"S/CD	430-175-160	28	LF	\$420.00	\$11,760.00	\$410.75	\$11,501.00
22	PIPE CULV, RCP, ROUND, 66"S/CD	430-175-166	1786	LF	\$475.00	\$848,350.00	\$341.87	\$610,579.82
23	PIPE CULV, RCP, ROUND, 72"S/CD	430-175-172	913	LF	\$490.00	\$447,370.00	\$399.86	\$365,072.18
24	PIPE CULV, RCP, ROUND, 84"S/CD	430-175-184	513	LF	\$665.00	\$341,145.00	\$556.93	\$285,705.09
25	CONCRETE CURB & GUTTER, TYPE E	520-1-7	30	LF	\$40.00	\$1,200.00	\$19.80	\$594.00
26	CONCRETE CURB & GUTTER, TYPE F	520-1-10	1170	LF	\$28.00	\$32,760.00	\$18.60	\$21,762.00
27	CONCRETE CURB, TYPE A	520-2-1	334	LF	\$25.00	\$8,350.00	\$15.79	\$5,273.86
28	CONCRETE CURB, TYPE D	520-2-4	880	LF	\$23.00	\$20,240.00	\$16.80	\$14,784.00
29	CONCRETE SIDEWALK, 4" THICK	522-1	394	SY	\$54.00	\$21,276.00	\$60.00	\$23,640.00
30	PERFORMANCE TURF (SOD)	570-1-2	1660	SY	\$5.50	\$9,130.00	\$7.20	\$11,952.00
31	LOOP ASSEMBLY (F & I) TYPE F	660-2-106	6	AS	\$3,000.00	\$18,000.00	\$9,000.00	\$54,000.00
32	WHITE/RED RETRO-REFLECTIVE PAVEMENT MARKERS	706-3	8	EA	\$8.00	\$64.00	\$4.80	\$38.40

Vendor's Name					Prime Construction Group, Inc.		JCB Construction, Inc.	
Vendor's City & State:					Orlando, FL		Orlando, FL	
33	YELLOW/YELLOW RETRO-REFLECTIVE PAVEMENT MARKERS	706-3	38	EA	\$8.00	\$304.00	\$4.80	\$182.40
34	PAINTED MARKINGS, STANDARD, WHITE SOLID 6"	710-11-120	300	LF	\$0.65	\$195.00	\$0.28	\$84.00
35	PAINTED MARKINGS, STANDARD, WHITE SOLID 24"	710-11-125	304	LF	\$3.00	\$912.00	\$2.70	
36	PAINTED MARKINGS, STANDARD, WHITE, MESSAGE	710-11-160	2	EA	\$80.00	\$160.00	\$66.00	\$132.00
37	PAINTED MARKINGS, STANDARD, WHITE, ARROW	710-11-170	3	EΑ	\$65.00	\$195.00	\$42.00	\$126.00
38	PAINTED MARKINGS, STANDARD, YELLOW, SOLID, 6"	710-11-221	1966	LF	\$0.65	\$1,277.90	\$1.13	\$2,221.58
39	PAINTED MARKINGS, STANDARD, YELLOW, SOLID, 18"	710-11-224	25	LF	\$2.75	\$68.75	\$1.62	\$40.50
40	THERMOPLASTIC, STANDARD, WHITE, SOLID, 6"	711-11-121	300	LF	\$1.95	\$585.00	\$1.13	\$339.00
41	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12"	711-11-123	331	LF	\$3.75	\$1,241.25	\$2.58	\$853.98
42	THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"	711-11-221	1966	LF	\$1.25	\$2,457.50	\$1.13	\$2,221.58
43	THERMOPLASTIC, STANDARD, YELLOW, SOLID, 18"	711-11-224	25	LF	\$4.50	\$112.50	\$3.66	\$91.50
44	THERMOPLASTIC, PREFORMED, WHITE, SOLID, 12"	711-14-123	331	LF	\$11.00	\$3,641.00	\$10.68	\$3,535.08
45	THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24"	711-14-125	304	LF	\$16.50	\$5,016.00	\$16.20	\$4,924.80
46	THERMOPLASTIC, PREFORMED, WHITE, MESSAGE	711-14-160	2	EA	\$300.00	\$600.00	\$282.00	\$564.00
47	THERMOPLASTIC, PREFORMED, WHITE, ARROW	711-14-170	3	EΑ	\$275.00	\$825.00	\$270.00	\$810.00
48	10" DUCTILE IRON PIPE	1050-51-210	40	LF	\$470.00	\$18,800.00	\$69.78	\$2,791.20
49	8" PVC WATER MAIN REPLACEMENT	2001-001	1	LS	\$12,000.00	\$12,000.00	\$50,920.80	\$50,920.80
50	4" CALIPER LIVE OAKS	0580-1-2QV	8	EA	\$1,150.00	\$9,200.00	\$1,200.00	\$9,600.00
51	4" CALIPER MAGNOLIAS	583-100	8	EΑ	\$1,400.00	\$11,200.00	\$1,200.00	\$9,600.00
52	OTHER LANDSCAPING PLANT MATERIAL (REPLACE TO MATCH EXISTING)	0580-1-1	1	LS	\$25,000.00	\$25,000.00	\$5,400.00	\$5,400.00
Calcula	ited Total (Items 1-52)					\$3,449,940.00		\$4,155,280.15
							Vendors Bid R \$4.155.	-
	m (00300-7) Signed:				YES		YES	
Bid Bond (10% of Base Bid) (00300-8-10):					YES		YES	
Affidavit of Non-Collusion (00310-1)					YES		YES	
Affidavit of Present & Future Compliance MWBE (00320)					YES		YES	
Present & Future Compliance Res. Contractor's (00330)				1	YES		YES	
Cert. of Contractor's Health Benefits Program (00340)					YES		YES	
Cert. of Contractor's Health Benefits Program (00360)					YES YES		YES YES	
Questionaire (00420)					NO YES		NO YES	
Veterans Business Enterprise Form M/WBE Utilization Plan		1			YES		YES	

Purchasing Agent: Silvia Coste

Vendor's Name		Prime Construction Group, Inc.	JCB Construction, Inc.
Vendor's City & State:		Orlando, FL	Orlando, FL
Addendum No. One (1) Acknowledged:		YES	YES
*** Amounts in "RED" from JBC Construction, Inc., are amounts calculate			
original Bid Response***		YES	YES

Vendor's Name		Gregori Cons	struction, Inc.	Cathcart Construction Company-Florida		
Vendor's City & State:		Titusv	ille, FL	Oviedo, FL		
Item	Description	Unit Price	Total	Unit Price	Total	
1	MOBILIZATION	\$420,000.00	\$420,000.00	\$300,000.00	\$300,000.00	
2	BOND AND INSURANCE	\$32,000.00	\$32,000.00	\$105,000.00	\$105,000.00	
3	MAINTENANCE OF TRAFFIC	\$165,000.00	·	\$750,000.00		
4	PREVENTION, CONTROL AND ABATEMENT OF EROSION AND WATER POLLUTION	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	
5	CLEARING AND GRUBBING	\$75,000.00		\$450,000.00		
6	TYPE B STABILIZATION	\$11.00	\$69,443.00			
7	OPTIONAL BASE,BASE GROUP 09	\$37.00	\$226,847.00			
8	SUPERPAVE ASPHALTIC CONC, TRAFFIC C	\$275.00	\$97,350.00			
9	MILLING EXIST ASPH PAVT,1 1/2" AVG DEPTH	\$8.00	\$53,096.00	\$7.00	\$46,459.00	
10	ASPH CONC FC,TRAF C,FC-12.5,PG 76-22,ARB	\$350.00				
11	INLETS, CURB, TYPE J-4, >10'	\$27,500.00	\$82,500.00			
12	INLETS, CURB, TYPE J-6, >10'	\$13,000.00				
13	INLETS, DT BOT, TYPE H, >10'	\$12,500.00	\$12,500.00			
14	MANHOLE, J-8, >10'	\$15,500.00	\$232,500.00		·	
15	MITERED END SECT, RCP, ROUND, 84" CD	\$18,500.00	\$18,500.00			
16	PIPE CULV, PVC, ROUND, 3"S/CD	\$40.00	\$240.00	\$75.00		
17	PIPE CULV, PVC, ROUND, 12"S/CD	\$45.00	\$135.00	-		
18	PIPE CULV, RCP, ROUND, 18"S/CD	\$100.00	\$2,500.00	\$130.00	\$3,250.00	
19	PIPE CULV, RCP, ROUND, 24"S/CD	\$600.00	\$1,800.00	\$150.00	\$450.00	
20	PIPE CULV, RCP, ROUND, 54"S/CD	\$450.00	\$27,000.00	\$500.00	\$30,000.00	
21	PIPE CULV, RCP, ROUND, 60"S/CD	\$650.00	\$18,200.00	\$700.00	\$19,600.00	
22	PIPE CULV, RCP, ROUND, 66"S/CD	\$710.00	\$1,268,060.00	\$850.00	\$1,518,100.00	
23	PIPE CULV, RCP, ROUND, 72"S/CD	\$890.00	\$812,570.00	\$900.00	\$821,700.00	
24	PIPE CULV, RCP, ROUND, 84"S/CD	\$950.00	\$487,350.00	\$1,100.00	\$564,300.00	
25	CONCRETE CURB & GUTTER, TYPE E	\$32.00	\$960.00	\$25.00	\$750.00	
26	CONCRETE CURB & GUTTER, TYPE F	\$27.00	\$31,590.00	\$25.00	\$29,250.00	
27	CONCRETE CURB, TYPE A	\$22.00	\$7,348.00	\$25.00	\$8,350.00	
28	CONCRETE CURB, TYPE D	\$30.00	\$26,400.00	\$25.00	\$22,000.00	
29	CONCRETE SIDEWALK, 4" THICK	\$50.00	\$19,700.00	\$45.00		
30	PERFORMANCE TURF (SOD)	\$9.00	\$14,940.00	\$7.00	\$11,620.00	
31	LOOP ASSEMBLY (F & I) TYPE F	\$4,500.00	\$27,000.00	\$4,000.00	\$24,000.00	
32	WHITE/RED RETRO-REFLECTIVE PAVEMENT MARKERS	\$4.00	\$32.00	\$7.00	\$56.00	

Vendor's Name		Gregori Const	ruction, Inc.	Cathcart Construction Company-Florida		
Vendor's City & State:		Titusvil	Titusville, FL		Oviedo, FL	
33	YELLOW/YELLOW RETRO-REFLECTIVE PAVEMENT					
	MARKERS	\$4.00	\$152.00	\$7.00	\$266.00	
34	PAINTED MARKINGS, STANDARD, WHITE SOLID 6"	\$0.30	\$90.00	\$1.00	\$300.00	
35	PAINTED MARKINGS, STANDARD, WHITE SOLID 24"	\$3.00	\$912.00	\$4.00	\$1,216.00	
36	PAINTED MARKINGS, STANDARD, WHITE, MESSAGE	\$65.00	\$130.00	\$100.00	\$200.00	
37	PAINTED MARKINGS, STANDARD, WHITE, ARROW	\$45.00	\$135.00	\$100.00	\$300.00	
38	PAINTED MARKINGS, STANDARD, YELLOW, SOLID, 6"	\$0.30	\$589.80	\$1.00	\$1,966.00	
39	PAINTED MARKINGS, STANDARD, YELLOW, SOLID, 18"	\$2.00	\$50.00	\$3.00	\$75.00	
40	THERMOPLASTIC, STANDARD, WHITE, SOLID, 6"	\$1.50	\$450.00	\$2.00	\$600.00	
41	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12"	\$3.00	\$993.00	\$5.00	\$1,655.00	
42	THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"	\$1.50	\$2,949.00	\$3.00	\$5,898.00	
43	THERMOPLASTIC, STANDARD, YELLOW, SOLID, 18"	\$4.00	\$100.00	\$6.00	\$150.00	
44	THERMOPLASTIC, PREFORMED, WHITE, SOLID, 12"	\$10.50	\$3,475.50	\$10.00	\$3,310.00	
45	THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24"	\$16.00	\$4,864.00	\$18.00	\$5,472.00	
46	THERMOPLASTIC, PREFORMED, WHITE, MESSAGE	\$275.00	\$550.00	\$750.00	\$1,500.00	
47	THERMOPLASTIC, PREFORMED, WHITE, ARROW	\$265.00	\$795.00	\$400.00	\$1,200.00	
48	10" DUCTILE IRON PIPE	\$38.00	\$1,520.00	\$350.00	\$14,000.00	
49	8" PVC WATER MAIN REPLACEMENT	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00	
50	4" CALIPER LIVE OAKS	\$1,200.00	\$9,600.00	\$4,000.00	\$32,000.00	
51	4" CALIPER MAGNOLIAS	\$1,200.00	\$9,600.00	\$4,000.00	\$32,000.00	
52	OTHER LANDSCAPING PLANT MATERIAL (REPLACE TO MATCH EXISTING)	\$18,500.00	\$18,500.00	\$28,000.00	\$28,000.00	
Calcul	ated Total (Items 1-52)		\$4,510,816.30		\$5,987,902.00	
Bid Fo	rm (00300-7) Signed:	YES		YES		
Bid Bond (10% of Base Bid) (00300-8-10):		YES		YES		
Affidavit of Non-Collusion (00310-1)		YES		YES		
Affidavit of Present & Future Compliance MWBE (00320)		YES		YES		
Present & Future Compliance Res. Contractor's (00330)		YES		YES		
Cert. of Contractor's Health Benefits Program (00340)		YES		YES		
Cert. of Contractor's Health Benefits Program (00360)		YES		YES		
	onaire (00420)	YES		YES		
	ns Business Enterprise Form	NO		NO VEC		
M/WBE Utilization Plan		YES		YES		

Purchasing Agent: Silvia Coste

CITY OF ORLANDO SEALED BID TABULATION

Vendor's Name	Gregori Construction, Inc.	Cathcart Construction Company-Florida	
Vendor's City & State:	Titusville, FL	Oviedo, FL	
Addendum No. One (1) Acknowledged:	YES	YES	
*** Amounts in "RED" from JBC Construction, Inc., are amounts calculate original Bid Response***	YES	YES	